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1. Richard has a hard time keeping a job because he is an educated black man.  He is discriminated against all the time just on the color of his skin.  He does not act like a black person either.  He sticks up for himself, like the time where he stopped after the watchman slapped the girl servant.  He did not do the “black” thing and just ignore them.  This is why he can’t hold a job.  He is different from other boys his age because he doesn’t steal and isn’t a criminal.  

2. The point was that if he would have stuck up for himself, he would have been a fool but he believes that what the watchman had done was wrong.  If he did stick up for himself, which he wanted to do, he would have been beaten.  Instead the girl convinces him to forget it, and so evidently does the watchman.

3. He does not steal because he does not want to go to jail and he thinks that stealing only brings about bad things.  Yes, I agree with Richard when he says, “crime carried its own punishment.  That is probably why he doesn’t want to steal.  He changes because he wants a quicker way to make fast cash in order to travel up north.  Richard justifies his new attitude toward stealing by telling himself that everyone steals.  The boys and his neighbor all steal.  I think that some people are justified in stealing because people can always have a reason in order to steal.  Some of those reasons can be necessary.  Like when people steal to get food for their families so they can survive.  
